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Q1. A ball is thrown vertically up with a certain velocity. It attains a height of 40 m and
comes back to the thrower. Then choose the correct option :(g = 10m/s?)

(a) the average speed of the ball for the round trip is zero.
(b) total displacement is 80 m

(c) total displacement is zero

(d) the average velocity for round trip is non zero

Q2. The magnitude of the displacementisequal-to the'distance covered-ina given-interval
of time if the particle.
(a) moves with constant aceeleration aleng-any path
(b) moves with constant speed
(c) moves in same direction with-constant velocity orwith variable velocity
(d) have acceleration and‘velocity in opposite direction:

Q3. Ampoint'moves in a straight line in"such a manner that its retardation is proportional to
its speed. Then

(a) Distance is proportional to'the increase in speed
(b) Distance is propartional-to’'the speed destroyed
(c) Average velocity of the particle is constant

(d) Nane of these

Q4. For which of the following graphs the average velocity of a particle moving along a
straight line for time interval (0, t) must be negative -

X v
(Position) (velocity)
@ O ttime ) Ol ttime
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Q5. Figure shows the velocity time graph of a particle moving along:straight line (v is m/s
and tis in seconds). Its average velocity in 20 seconds will be:
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(@) 10 m/s (b). zero
(c) 3.75-mis (d)7.5mls

Q 6. ~A-persansstarts.from origin and for histinear'motion velocity is given as shown in
figure. Find displacement-of the person,from t = 15 sec to t = 35 sec.

velocity
A

15m/s +—— -——

10m/s ) g i

5s 10s 155 255\ 3bs fime

-15m/s
@ 75m (b) O
(©)-75m (d) 150 m

Q7. The displacement of a particle is given by x = (t — 2)? where x is in metres and t in
seconds. The distance covered by the particles in first 4 seconds is:

@ 12m (b) 8 m (©)9m (d)18 m
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Q8. Acar covers half of the distance with speed 60 km/hr and rest of the half with speed 30
km/hr. The average speed of the car is —
(@) 45 km/hr (b) 40 km/hr
(c) 20.0 km/hr (d) 50 km/hr

Q9. A body travelling along a straight line traversed one third of the total distance with a
velocity 4 m/s. The remaining part of the distance was covered with a velocity 2 m/s
for half the time and with velocity 6 m/s for the other half of time. The mean velocity
averaged over the whole time of motion is:
(@) 5m/s (b) 4 m/s (c) 4.5mls (d) 3.5 m/s

Q 10. The displacement of a particle moving in a straight line-is described by-the relation, s =
6 + 12t — 2t2. Here s is in metres and t in seconds. The distance covered by particle in
first5sis:
(@ 20m (b)32m (c) 24'm (d)26 m

Q 11. Abody moving in a curved path possesses a velocity 3 m/s-towards north at any instant
of its motion. After 10s; the'velocity of the body was found to'be 4-m/s towards west.
Calculate the average acceleration during this interval.
(a) 0.1 m/s? at, 37° North of West
(b) 0.5-m/s? at'37%°South-of West
(c)-0.1 m/s%at 37° South of West
(d)0.5'mfs?at 37° North of West

Q 12. A particle moves with constant speed v along a regular hexagon ABCDEF in same
order (i.e. AtoB,BtoC,CtoD,DtoE, EtoF, FtoA...). Then magnitude of average
velocity fordts motion-from A to C is —
(@)v (b) v/2
() V3u/2 (d) none of these

Q 13. A particle moves with a velocity v in a horizontal circular path. The change in its
velocity for covering 60° will be —
(a) vv2 (b) vIV2
(c) w3 (d)v

Q 14. From the velocity-time graph of a particle determine the acceleration of particle at t =
lsec:
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L V(mis)
6 .....................
o > 5 t(sec)
(a) 3m/s? (b) 6m/s?
(c) 2m/s? (d) 5m/s

2 2
Q 15. A particle moves along the positive branch of the curve y = x? where x = % xany are
measured in metres and t in seconds. At t = 2 s, the velocity of the particle is

(@) 27 —4jmls (b) 47 + 2j m/s
(c) 2T+ 4j m/s (d) 41 — 2f m/s
Answer Key

Ql c Q.2 c Q3 b Q4 a Q5 d

Q6 b |Q7 b |08 b |09 b |Q10 d

Q11 b |Q12 ¢ |Q13 d |Q14 a |Q15 ¢

Use code LIVE to get Maximum OFF on Unacademy PLUS / Iconic and learn from India’s Top Faculties


https://www.physicsaholics.com/
https://www.physicsaholics.com/
https://www.physicsaholics.com/
https://unacademy.com/@physicsbyprateekjain

PLUS [[ele]lohd

India's Best Educators

Interactive Live Classes

Structured Courses & PDFs

Live Tests & Quizzes

24 months

18 months

12 months

6 months

a Add a referral code

¥2,333/mo
¥2,625/mo
¥3,208/mo

%4,667/mo

Use code PHYSICSLIVE to get 10% OFF on
Unacademy PLUS.

PLUS [[sle] N lohd

India's Best Educators
Interactive Live Classes
Structured Courses & PDFs

Live Tests & Quizzes

24 months ¥2,100/mo

+10% OFF

18 months ¥2,363/mo
+10% OFF ¥4

12 months ¥2,888/mo
% OFF 2:

¥4,200/mo
% OFF >, 2

i‘_ Awesome! PHYSICSLIVE code applied




Written Solution

DPP-1 Kinematics: Speed, Velocity, Distance and Displacement
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